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Note : This paper is of eighty (80) marks containing three 

(03) Sections A, B and C. Learners are required to 

attempt the questions contained in these Sections 

according to the detailed instructions given therein. 

uksV % ;g iz’u i= vLlh ¼80½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of nineteen (19) marks each. Learners are 

required to answer two (02) questions only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, mUuhl ¼19½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What do you understand by Cost Accounts ? Discuss 

the difference between Financial Accounts and Cost 

Accounts. What are the various methods of cost 

accounting ? State the industries to which they can be 

applied. 

ykxr ys[kkadu ls vki D;k le>rs gSa \ foŸkh; ys[kkadu 

rFkk ykxr ys[kkadu esa vUrj Li”V dhft,A ykxr ys[kkadu 

dh fofHkUu iz.kkfy;ksa dk o.kZu dhft,A mu m|ksxksa dks 

crkb, ftu ij os ykxw gksrh gSaA 

2. What do you mean by price rate and time rate system 

of remunerating the labour ? Explain their advantages 

and disadvantages. 

Je dks ikfjJfed nsus dh le;kuqlkj rFkk dk;kZuqlkj 

i)fr;ksa ls vkidk D;k vk’k; gS \ buds ykHk rFkk gkfu;ksa 

dks le>kb,A 

3. M/s Santosh Coolers gives the following details in 

respect of its factory expenses for the year ended on 

31st December, 2015 : 

Work-in-Process (1-1-15) : ` ` 

At prime cost 25,500  

Manufacturing Exp. 7,500 33,000 

Work-in-process (31-12-15) :    

At prime Cost 22,500  

Manufacturing Exp. 4,500 27,000 
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Stock of Raw material on 1-1-15   1,12,500 

Purchase of Raw Materials  2,38,500 

Direct Labour  85,500 

Manufacturing Expenses  42,000 

Stock of Raw Materials on 

                 31-12-15   1,02,000 

On the basis of the above data, prepare a statement 

showing the cost of production. 

eS- lUrks”k dwylZ 31 fnlEcj] 2015 dks lekIr gksus okys o”kZ 

ds fy, vius dkj[kkuk O;;ksa ds lEcU/k esa fuEufyf[kr 

fooj.k izLrqr djrs gSa& 

 ` ` 

fØ;ek.k dk;Z ¼1&1&15½ %   

ewy ykxr 25,500  

fuekZ.k O;; 7,500 33,000 

fØ;ek.k dk;Z ¼31&12&15½ %   

ewy ykxr 22,500  

fuekZ.k O;; 4,500 27,000 

dPph lkexzh dk LVkWd 1&1&15 dks  1,12,500 

dPph lkexzh dk Ø;  2,38,500 

izR;{k Je  85,500 

fuekZ.k O;;  42,000 

dPph lkexzh dk LVkWd 

             31&12&15 dks  1,02,000 

mi;qZDr lwpuk ds vk/kkj ij mRiknu ifjO;; fn[kkrs gq, 

fooj.k&i= rS;kj dhft,A 
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4. A product is made in three grades. Figures related to 

production are shown as follows : 

 Process 

I 

Process 

II 

Process 

III 

Raw Material used  

  (In tonnes) 1000   

Cost of material 

   (` per ton) 200   

Manufacturing Wages 72,500 40,800 10,710 

Weight lost (%) 5 10 20 

Scrap sold @ ` 50 per 

ton 50 tonnes 30 tonnes 51 tonnes 

Sale price per ton ` 350 ` 500 ` 800 

Two-third part of process first and one-half of process 

second are passed on to the next process and the 

balance are sold. Prepare Process Accounts. 

,d mRikn rhu Jsf.k;ksa esa rS;kj fd;k tkrk gSA mRikn 

lEcU/kh vk¡dM+s fuEufyf[kr gSa % 

 izfØ;k v izfØ;k c izfØ;k l 

mi;qDr lkexzh ¼Vu esa½ 1000   

lkexzh dh ykxr ¼izfr  

    Vu `½ 200 

  

etnwjh ¼`½ 72,500 40,800 10,710 

Hkkj esa deh ¼%½ 5 10 20 

vof’k”V lkexzh dk 

foØ; ¼` 50 izfr Vu½ 50 VUk 30 VUk 51 VUk 

foØ; nj ¼` izfr Vu½ ` 350 ` 500 ` 800 
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izFke Js.kh dk nks&frgkbZ rFkk f}rh; dk vk/kk vxyh izfØ;k 

dks Hkstk tkrk gS rFkk ‘ks”k dks cspk tkrk gSA izfØ;k [kkrs 

rS;kj dhft,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of eight (08) marks each. Learners are 

required to answer four (04) questions only. 

uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, vkB ¼08½ vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy pkj ¼04½ iz’uksa ds mŸkj nsus 

gSaA 

1. Briefly explain the components of Total Cost. 

dqy ykxr ds fofHkUu vaxksa dk laf{kIr o.kZu dhft,A 

2. Explain Perpetual Inventory system and mention its 

advantages. 

fujUrj lwph iz.kkyh dh O;k[;k dhft, rFkk blds ykHkksa dks 

crkb,A 

3. What factors do you keep in view while ascertaining 

the the machine hour rate ? 

e’khu ?k.Vk nj Kkr djus ds fy, fdu izeq[k rRoksa ij 

fopkj fd;k tkrk gS \ 

4. Explain the rules for the calculation of proift on 

incomplete contracts. 

viw.kZ Bsds ij ykHk dh x.kuk ds fu;e le>kb,A 
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5. On manufacturing of 5000 units, direct wages cost are 

` 20,000. For  manufacturing additional 1000 units the 

cost of wages increases 20% less than proportionatlly. 

Find out the amount of direct wages for tender of 

7000 units. 

5000 bdkb;ksa ds fuekZ.k ij izR;{k etnwjh ` 20]000 yxrh 

gSA izfr 1000 bdkb;ksa ds vfrfjDr mRiknu ij blesa 

vuqikr ls 20 izfr’kr de o`f) gksrh gSA 7000 bdkb;ksa dh 

fufonk ij izR;{k etnwjh Kkr dhft,A 

6. The contract price of a contract undertaken by Goel 

Bros. on 1st January, 2015 was ` 2,50,000. The 

following expenses were incurred on the contract : 

 ` 

Material Consumed 62,500 

Stock on 30-9-2015 20,000 

Wages 30,000 

Direct Expenses 32,000 

Plant Purchased 40,000 

The contract was completed on 30th September, 2015 

and the contract price was duly received. Provide 

depreciation on plant @ 10% p. a. and charge indirect 

expenses @ 20% on wages. Prepare Contract Account 

and Contractee‟s Account. 
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1 tuojh] 2015 dk xks;y cznlZ }kjk fy, x;s Bsds dk 

ewY; ` 2]50]000 FkkA Bsds ij fuEufyf[kr O;; gq, % 

 ` 

miHkksX; lkexzh 62,500 

30&9&2015 dks gLrLFk lkexzh 20,000 

etnwjh 30,000 

izR;{k O;; 32,000 

Iyk.V Ø; 40,000 

30 flrEcj] 2015 dks Bsdk iw.kZ gks x;k vkSj Bsdk ewY; izkIr 

gks x;kA Iyk.V ij 10 izfr’kr izfro”kZ dh nj ls kl pktZ 

dhft, vkSj etnwjh dk 20 izfr’kr vizR;{k O;;ksa ds fy, 

pktZ dhft,A Bsdsnkj dh iqLrdksa esa Bsdk [kkrk rFkk 

Bsdknkrk dk [kkrk cukb,A 

7. From the following data pertaining to the year 2015-

16, prepare a Cost Sheet showing the cost of electricity 

generated per unit of kWh by Chinmay Thermal Power 

Station. 

Total units generated 2000000 kWh 

 ` 

Operating Labour 50,000 

Repairs and Maintenance 50,000 

Lubricants, Spares and Stores 40,000 

Plant Supervision 30,000 

Administrative Overheads 20,000 

Coal consumed per kWh for the year : 2.5 kg @ ` 0.02 

per kg. 
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Depreciation charges @ 5% on Capital Cost of  

` 2,00,000. 

fpUe; FkeZy ikoj LVs’ku }kjk mRikfnr fo|qr dh izfr 

bdkbZ fdyksokWV ykxr fn[kkrs gq, ,d ifjO;; i= rS;kj 

dhft, % 

dqy mRikfnr bdkb;k¡ 2000000 fdyksokWV 

¼`½ 

lapkyu Je 50,000 

ejEer ,oa j[kj[kko 50,000 

yqczhdsUVl~] Lis;lZ o LVkslZ 40,000 

Iyk.V fujh{k.k 30,000 

iz’kklfud mifjO;; 20,000 

o”kZ esa izfr fdyksokWV dks;yk mi;ksx gqvk % 2-5 fdyksxzke] 

nj ` 0-02 izfr fdxzkA 

kl ` 2]00]000 dh iw¡th ykxr ij 5 izfr’krA 

8. On the basis of given information, find out the profit as 

per Cost Accounts : 

(i) Net Profit as per Financial Accounts ` 1,00,120. 

(ii) Works Overhead under recovered in Cost 

Account ` 4,000. 

(iii) The Administrative Expenses were under 

recorded in financial accounts by ` 1,500. 

(iv) Depreciation charges were overrecorded in the 

cost accounts by ` 1,000. 

(v) The interest received on investments during the 

year amounted to ` 500. 
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nh xbZ lwpukvksa ds vk/kkj ij ykxr ys[kksa ds vuqlkj ykHk 

dh jkf’k Kkr dhft, % 

(i) foŸkh; ys[kksa ds vuqlkj ‘kq) ykHk ` 1]00]120A 

(ii) dkj[kkuk mifjO;; ykxr ys[kksa esa ` 4]000 de olwy 

fd;s x;sA 

(iii) iz’kklfud O;; foŸkh; ys[kksa esa ` 1]500 ls de fy[ks 

x;s FksA 

(iv) vo{k;.k dks ykxr ys[kksa esa ` 1]000 ls vf/kd fn[kk;k 

x;kA 

(v) o”kZ ds nkSjku fofu;ksxksa ij ` 500 C;kt izkIr gqvkA 

Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of one (01) mark each. All the questions 

of this Section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, ,d ¼01½ vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Indicate whether the following statements are True or False : 

bafxr dhft, fd fuEufyf[kr dFku lR; gSa ;k vlR; % 

1. Under LIFO method, material is issued at Weighted 

Average Price. (True/False) 

yhQks iz.kkyh esa fuxZr lkexzh dks Hkkfjr vkSlr ewY; ij 

ewY;kafdr fd;k tkrk gSA   ¼lR;@vlR;½ 



 [ 10 ] S-834 

 (A-83) 

2. Abnormal Wastages are shown on the debit side of 

Precess Account. (True/False) 

vlkekU; {k; dks izfØ;k [kkrs ds _.kh ¼MsfcV½ i{k esa 

iznf’kZr fd;k tkrk gSA   ¼lR;@vlR;½ 

3. Prime Cost is also known as Cost of Production.  

     (True/False) 

ewy ykxr dks mRiknu ykxr Hkh dgk tkrk gSA  

    ¼lR;@vlR;½ 

4. Variable cost per unit remains the fixed. (True/False) 

ifjorZu’khy ykxr izfr bdkbZ fLFkj jgrh gSA ¼lR;@vlR;½ 

5. Cost of idle time due to labour strike should be treated 

as factory overhead. 

Je gM+rky ds dkj.k csdkj le; dh ykxr dks dkj[kkuk 

mifjO;; ekuuk pkfg,A 

Choose the correct alternative. 

lgh fodYi pqfu,A 

6. An example of Variable Cost : 

(a) Rent, Rates and Taxes 

(b) Interest on Capital 

(c) Direct Material Cost 

(d) Depreciation on Machinery 

ifjorZu’khy ykxrksa dk ,d mnkgj.k fuEufyf[kr esa ls 

dkSu&lk gS \ 

¼v½ fdjk;k] dj o nj 

¼c½ iw¡th ij C;kt 

¼l½ izR;{k lkexzh ykxr 

¼n½ e’khu ij kl 
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7. Which method of costing is used for deciding room 

rent in a hotel ? 

(a) Process Method 

(b) Contract Method 

(c) Operating Costing 

(d) Standard Costing 

,d gksVy ds dejs ds fdjk;k&fu/kkZj.k esa ifjO;;kadu dh 

dkSu&lh i)fr iz;ksx dh tkrh gS \ 

¼v½ izfØ;k fof/k 

¼c½ Bsdk fof/k 

¼l½ ifjpkyu ifjO;;kadu 

¼n½ izeki ifjO;;kadu 

8. Work Cost of a Contract work is ` 40,000. 

Administrative and Office Expenses is 15% of  works 

cost. Profit is 20% on Contract Price. Find out the 

Contract Price. 

(a) ` 57,500 

(b) ` 55,200 

(c) ` 46,000 

(d) ` 48,000 

Bsdk dk;Z dh dkj[kkuk ykxr ` 40]000 gSA iz’kklfud rFkk 

dk;kZy; O;; dkj[kkuk ykxr dk 15 izfr’kr gSA ykHk Bsdk 

ykxr ij ` 20 izfr’kr gSA Bsdk ykxr Kkr dhft,A 

¼v½ ` 57]500 

¼c½ ` 55]200 

¼l½ ` 46]000 

¼n½ ` 48]000 
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9. Depreciation charged in cost books is ` 8,000 and in 

financial books is ` 6,700. What will be the proifit as 

per financial books when profit as per cost books is  

` 6,000 ? 

(a) ` 6,000 

(b) ` 7,300 

(c) ` 4,700 

(d) None of these 

pktZ fd;k x;k kl ykxr iqLrdksa esa ` 8]000 rFkk foŸkh; 

iqLrdksa esa ` 6]700 gSA ;fn ykxr iqLrdksa ds vuqlkj ykHk 

` 6]000 gS] rks foŸkh; iqLrdksa ds vuqlkj ykHk D;k gksxk \ 

¼v½ \` 6]000 

¼c½ ` 7]300 

¼l½ ` 4]700 

¼n½ buesa esa dksbZ ugha 

10. When value of work certified is less than 1/4th of 

contranct price, portion of profit to be transferred to 

Profit & Loss Account will be : 

(a) 1/3rd 

(b) 2/3rd 

(c) 1/4th 

(d) Nil 

;fn izekf.kr dk;Z dk ewY; Bsdk ewY; ds 1@4osa Hkkx ls 

de gS] rks ykHk&gkfu [kkrs esa ykHk dk 
-------------

 Hkkx vUrfjr 

fd;k tk;ssxkA 

¼v½ 1@3ok¡ 

¼c½ 2@3ok¡ 

¼l½ 1@4ok¡ 

¼n½ ‘kwU; 

S–834  570 


